
1) Factorise d2 + 5d + 6

Answer: ____________

2) Round 22.678 to the nearest whole 
number.

Answer: ____________

3) 80 ÷ 10

Answer: ____________

4) Factorise q2 + 4q + 4

Answer: ____________

5) 23% of 49

Answer: ____________

6) Convert the following improper 
fraction 22/4 + 63/6 to a mixed number

Answer: ____________

7) 51 ÷ 3

Answer: ____________

8) 100 ÷ 10

Answer: ____________

9) 1500 ÷ 100

Answer: ____________

10) 1 - 20 ÷ 4 + 19

Answer: ____________

Total: ___ / 10

Copyright 2019 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

January 31, 2019

Sr: 31012019-958

 

http://www.geekschool.co.uk


Answers:

1) (d + 2)(d + 3) 2) 23 3) 8 4) (q + 2)(q + 2) 5) 11.27 6) 9 7) 17

8) 10 9) 15 10) 15
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